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PART-I : COMPULSORY [ -1 orferd
GENERAL STUDIES | A SrerRe

- 1. Which of the following census years is

known as the ‘Year of Great Divide’ in

India?

(a) 1911
(b) 1921
() 1951
(d) 1991

(a) wheat

{(b) ' cotton

(c) mustard

(d) paddy

correctly matched?

« SRI method is related to

+ Which of the following pairs is not

Crop Insect-pest
(a) Groundnut : Pod borer
(b) Gram : Pod borer
(c) Paddy : Banka
(d) Maize : Stem borer

Mung bean is
(a) 100%
(b) 200%
(c) 250%
(d) 300%

. The rotation intensity of Maize-Potato-

Which of the following pairs is not

correctly matched?

Crop Variety
(a) Groundnut : Kaushal
(b) Mustard : Vardan

(c) Linseed
(d) Gram

: Chamatkar

: Udai

L fefafad smmm o 4 3 By wRa A
RIS F1ad’ % w9 3 s e 7

(a) 1911
(b) 1921 )}

e 1951

(d) 1991

2. THo 3Ro Ao fafYy weftg 2

\gc/aga SRY

'(b) FuE @

(c)  wwEl |

o a e | |
3. fimteifian % ¥ Pr-m g v ik =t &7

A #re

() TT%T*ﬁ : el B

) F o wd I
\MHF{ Tl

@ W\ I

4. WERT-3ATe]- 41 o -5k < Wl
() 100% :
\,w)/ 200%
(c) 250%
(d) 200% .~
5. Prean f & 2 g vl g i &7
Sfa

(b) ®WE  : wEW
() e wWew
(d) = HC
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6. Which of the following diseases cannot
“be cured by antibiotics?

(a) | Tuberculosis
- (b) Tetanus
(c) Measles

(d) Cholera

7. Which of the following pairs is not
correctly maiched?

(a) Computer : Charles Babbage
(b) Radio : Karl Benz
(c) Barometer : E. Torricelli~
: (d) Dynamo : Michael Farad;y
8. The communication satellites are
invariably

(a) revolving at their own speed A
(b)
(c)

(d)

éta{tiéhary

geostationary

changing their track and speed

9. For which substance among the

following, conductivity increases with
temperature? j

(@) Copper

() Germanium
© '
(d) Iron

Silver

The area of a reglila.r ‘hexagon of side
243 cm is

10.
¥ @ 1243 cm?
(b) 182 cm?

(c) 18_cm2

(d) 183 cm? -

Gs-C 4

_s.ﬁmﬁf@ﬁﬁ@m;ﬁnmuﬁéﬁmmﬁm
Tt fop <1 whaT?

e
(b) &
© @m v’
@ ¥
7. freefm 7 3 & - w8 gl T
@ T Ted d
i o E L
() Wi ;o EH
(@) SO c W
8. G4 IUIE Hed
gy e ) A R
(b) V@R@% |
(© TRrRwmiv’
(d) T Y T T e T €
o, P werl § F ) Srehar e
o1y el 8l i
(), @A
o) R
Nl
(d) < .

10. 23 cm Y57 A FHTGS 1 &R QT

(a) 12V3 cm?
(b) 182 em?
(@ 18em?

(d 18y3cm2 v/
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11.

12.

13.

14.

15.

GS-C

(©

If 2x+2=3, then the wvalue of

[a—

b L2

8
21
c) —
()8
7

If one of the roots of the quadratic
equation 2x? + px+4=0 is 2, then the
other root is

(a) -2

(b) -1

+1

(d) +2

In whick State was the military exercise
Vijay Prahar’ held in May 2018?

(a)
(b)
(c)
(d)

Maharashtra

Gyj arat
Rajasthan
Madhya Pradesh

Who has won the Women Singles:Title of
Badminton. in Commonwealth Games,
2018?

(a) Saira Nehwal

(b) P. V. Sindhul’

(¢ K. Gilmour

(d) Michelle Li

In the World Press Freedom Index,
2018, India is placed at

(a) 135th

(b) 136th

(c) 138th

(d) 137th

5

11. Wﬁ2x+g=3‘€l,?ﬁ x3+—13+2?mm%
X x

¥

) = L)’F XT3 (*
21 @’Y 9, 7
(c) ) 7’//_)'/

. %g 3
/! 4 ﬁ/l

9/4’
12. 7R fgomd ¥ 2x2 + px+4=0 F T v

w2, 3 o P/ﬂ
ut?
(@) -2 6+ 1%

(b) -1 —’rp 9- ?(‘(

ud P

(d +2

9B

K
13. 7% 2018 ¥ fpm T=0 ¥ T A foem
TeR WA gen?

(a) TeRTE
(b) T,

\yz)/wm\/

(d) W& W

14. TPWed ©d, 2018 § 9 &1 7igen e
R fore <fian 27

@) WE AR L
Mﬁoa‘}oﬁ:{

(c) o iR

(d) T ol

15, o Y WeAd gEwE, 2018 ¥ WRd w0
[

e 13530

(b) 136af

(¢ 138 7

(d) 137al

[ P.T.O:

@ Scanned with OKEN Scanner



T ————

16. In which of the following texts, it 18
stated that those who could not speak
Sanskrit language correctly were called
‘Mlecchas™?

ia) ‘Shvetashvatara Upanishad

: (b) Gépatha Brahmana

3

(c). Brihadaranyaka Upanishad

(d) Shatapatha Brahmana

17, Match List-I with List=II and select the
‘correct’ answer using the codes given
below the Lists : ‘

List-I = List-II
{King) (Spouse)
- A. Chandragupta I 1. Dutta Devi
- B. Samudragupta 2. Kubei‘anaga
C. Chandragupta II 3. Kumana» Dev1
D. Kuméragupta I 4. Ananta Dev1
Codes :
‘@@ A B C D
2 3 4 1
b)) A B C

@ A B C D
4

@A B C

oo

GS-C

16. ﬁmﬁfﬁaaﬁﬁﬁamﬁmw%mﬁ
mmﬂ@ﬁ?ﬁamﬁﬁ'w»
arsramm?

(;) e U
(b) e FTET
(c) FeeRVTH JYATE
(d) ¥avd ST
17, GE-1 91 G-I A AR B o e §
i foq T e W @ W G IW AT
-1 =11
o )
A. 5 Y9 1. a1 ¢t
Bowggm 2. gem
C. < fecfia 3. AR
D pmmwm . 4. = 3

A B C D
3 2 4
€0 A B Cc p
3 1 2 4
d A B D
4 3 1 2
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18. With reference to the book Arthashastra,
which of the following statements is/are

correct? i
| z
1. It is the oldest masterpiece on

Indian State Policy.

2. There is no descnptlon of Mauryan

empire and administration in this
book.

Select the correct answer usmg the
codes given below.

Codes :

(a) 1 only
(b) 2 only
() Both 1 and2
(d) Neither 1 nor 2
19. Who smong the “following addressed

Delhi as one of the greatest cities in the
world?

(a) Ibn Batuta
(b) Alberuni
(c) Farishta

(d) Abul Fazl

20 Who is known'as the Father of Endlas
Local Self- Government’r’ '

(a) Lord Lytton
(b) Lord Ripon
(¢) Lord Curzon ,
(d) ‘Lord Dalhousie .
21. At least how many days are required

to nge the prior notice for the
nnpeachmcnt of the Pre51dent of India?

;a) 7 days
(b) 14 days
(c) 21 days SRR Nl
(d) 30 days

GS-C

18. Iy ek % wad F PefyReg N
BR-/Q o w7

1. T IRAE TSRE % w6y A gy
I IEHE T

2. T8 5% % iR UESE qo T @
3 T B 0

ﬁﬁqmwwmmﬂamgﬁm
w®:
il v
(b) 2
() 1R 23N
() #a’flaﬂt#%ﬁz
19, ﬁﬁ%ﬁmﬁﬁﬁrﬁﬁa%mmﬁﬁ
Th % 9§ S’
(a) WW v
o et
o) i
(d)’WW'
20. wﬁmwwwwﬁﬁm
ST 37 | :
(@) ﬂl‘s’fm
e st
(0 i FH -
(d) <iE @

21. YRA & TEUfd W wElEm Sem % o
-ﬁ-wﬁ?ﬁﬁaﬁqﬁwwé?

(a) 7fA

Y S0 R

(c) 21%!
(d) 30 R

[ P.T.O.
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22. Who administers the oath of office an.d
secrecy to the Governor of a State

India? |
(a) The President of India
(b) The Vice President of India

(c) The Chief Justice of the High Court
of the State

(d) The Speaker of the Legislative
Assembly of the State

23. Which Part of . our Constitution
envisages a three-tier system of
Panchayati Raj? :

(a) Part IX
(b) Part X
(c) Part XI
(d Part XII
24. Which of the following States has no
oil refinery?

(a) Gujarat - ™
" (b) Kerala _
(c) Chhattisgarh - ~ =
(d West Bengal
25. Which of the following rivers does not
flow in Australia? -
(@) Hunter River |
(b) Flinders River
. (c) Orange River
(d) Gilbert River
26. Which of the following States recorded

‘. decrease in’ its' ‘population -in 2011
Census?

’ (a) ' Kerala
(b) ‘.' Sikkim
(c) Nagaland

(d) Manipur

o2, v R T F TN H W 3y
e ) 9@ e T &7

(a) e 1 T

() 1 |
o maﬁmmg@'mzﬂm\/ :
@ I S o

23, TR T ¥ B v 3 e T % R
Fgt ) saren 1 T fopan mn?

\@/mmx v’
(b) X S
() ¥ XI

@ STXI

24, Frfufas 7 ¥ Fra Tea & d@ Meen

(a) TR | o |
( whE"
CIRELEI]

25. Frefiian # 3 -0 7 R § T

a7
(a) EX TR
(b) . Tored iR
() AR~ RR
(@ few e

26. Freaffid 3 & g w1 3§ 2011 9 SR

¥ e g iR gon ¥
(a) W@
() fefm

\ef e

(d) PR -
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27. Which of the following is the  most

28.

effective measure of population contro]
according to Malthus?

(a) War
(b) Disaster
(c) Birth control

(d) Social evils

Which of the following is not a biome?
(a) Desert

/
(b) Grassland

() Ecosystem

(d) Tundra

29,

i
Y

Dudhwa National Park: is- situated in
which of the following States?

(a) Asszjﬁn
(b) Uttarakhand

oo : =

() “Rajasthan 4 \

30.

According fo the Fourth Round .of
National Family Health Survey, the
current TFR (Total Fertility Rate—

children per woman) is

..(a) op

(@) 45 . )

GS-c

(b) 32

(c) 42

'L,I'

‘27-WW%Wmﬁﬁaﬁqmm
STTHE1- ) 3 it w37

(@) I

(b) 3T

(d) -\ Saf

28. freifeern & 8 - o el e 47

(b) =T H T

(c) mﬁ@ﬁasaa \/

d T

T -t dy

29.gwﬁmqam%ﬁmmﬁémmﬁ

fera 7

, \JK/W i
e ' e

5 .

(c) TSTEM

(d) IRwm L7 -

N .

30. TR YRR WReA W F g W %
TR, FHH o Tho Mo (36 w5

R — == 3t feem) ¥ o
22 v~

(b) 32

() 42

) 45

[ P.T.O.
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PART-II : MATHEMATICS / 911 + TTTOT

31. If 8 is real, then
(a) cos(ib)=icosh®.
\J)aj/sin(ié)=isin1}6 \/
() tan(i6)=tanh8

(d) cot(if) =icoth6"

32. If z=x+iy, where i=+-1, the;i z-3
z+3

represents a circle, whose centre and
- radius, respectively, are

=2

@ (50,5
(b) (-5,0),2

) (-5,0)3

(d) (-5 0,4 \/

33. If o(#1) is a cube root of unity, then the
value of {(1- 0+ ©?) +(1+0-0?)° - 32} is

Wo
(b) -32
() 32

) -64 ¢
34. The value of 43—'—41; 1s
(a) 2+i
(b) 1+i
@ 1-i

@ 2-i

/17-C

10

31. w&e;rwﬁ%%, il
@) cos(i6)=icosh®
(b) siln(i6)=isinh6
) tan{8)=tanho

() cot(iB)=icoth®

32, 9f2 z=x+iy W i 3-2
qaﬁ"e‘ﬁam% ﬁw%ﬂ aﬂtﬁmﬁ
ﬁm% AT
@ (50,5 Qlfg’
(b) (-5,0,2
© 50,3
@ 504
SS;Wﬁm(étl)z%ﬁmWﬁ,;ﬁ |
{(t- w+m2)5+(1+m-m2)5-32} e
HAM & Lawv)
V/ (9% +
W
b) -32 2. ”Zﬁ
© 32 ,4$L@“
~ 39/
(@) -64 “ 3%
34. 3-F muR}
(a) 2+i we ‘
(b) 1+i ‘/”"‘/Q—L
(€ 1-i
W 2-1 . g—r“

53

. u - H:
UR | @
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385. If cos(x +iy) =cosa +isina, then the value
of (cosh2y+cos?2x) is

@ 1 |
(b) 2 e
) -2 ‘

@ +2

36. The three cube roots of z=-8i are

@) % —F-i\G-i \_
(b) ~2i, ~V3-i,3-i
(¢) 2i, -v3-i,4/3+i
@ 20 J3-i —v3+i

z-1

37. If Im[ X
2z+1

)=—4, then the locus of z is

(a) an ellipse L/

(b) a parabola-l
(c) a straight line
(d) a circle
38. If f(z)%—-(x2+ay2,)+ibxy is a complex
analytic function of z=x+iy, then the
value of a+b is |
(a)  0
(b) 1 /
kc) -1

@ 2

/17 ‘ 11

35. 3f3 cos(x +iy) =cosa. +isina,

(¢) 2i, -+/3-i,¥3+i
@) 24 V3-i, ~V3+i

37. 3R Im(;z_l')=~4 A, D 2 forgua 3

+1
o) TR
(b) ‘@W |
(c) T W T
(d) T

38. I f@)=(x? +ay?)+ibxy, z=x+iy F Th
A AARE SR, W asb AR
@) o |
(b) 1.
(c) -1
d 2

[ P.T.0.
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(cosh2y+cos2x)
T IM §
(a) 1
(b) 2
(c) -2 .
/
@ 2 Lt 5r
| V
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"39. Which one of the following is false?

(@) f(2)=Z is nowhere analytic.

\}l’/f (=22 is analytic everywhe\ra/

© fl)=|z]? is analytic at z=0.

o 5 [e)=e® is analytic everywhere.

40. For ze G the inequality |z+i|>|z-1] is
(a) always true
(b) never true

- () true for Rez>0 .

(d) true for Im z>‘0

£2 ,
41, The value ofj dx is
314+3%
1,
(a) =
()V3
1
b) =
b
- (¢) 3

@ o

42. The area bounded by the curves y=sinx
Y=cosx and y-axis is

(8 4241
o B
(0)»’ 2(/2 - 1)

f+1

)

(d)

v

39, Amffad # & PH-H1 TF T 27
@) flz)=7 FE A A T 3
(b) flz)=z" oA M 2|

© fl@)=lz?, z=0T ¥ifi 3|

) flo)=e” T AT &I

40. ze C¥ R T [z +i[>[2-i R

{c) Rcz>0é§ﬁﬁ‘i{w

(d) Imz>0% faq oy

H '[31+3

(b)
(c) 3

(d 9

1
(@) 3

O |~

dx &1 qM 2

42, a’ﬂ-ﬁ y=sinx, y=cosx SﬁT Y- TN IiEg

89 1 §T%d

?

(@) v2+1
(b) +2-1
© 263-1)

@ Y2+l
2

/17-C 12
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43. If lim ~____~.axb—3
x—2 x=2
a, b will be

(@) a=b=3 \_

(b) a=zb

:%, then the value of

() a=0,b=4
(d) a=2 b=1

44. Consider the following statements :

I,
I

y=|x]| is differentiable at x=0,

Y=x|x|is differentiable everywhere.

Which of the above statements is/are
true?

(a)
(b)
(©)

Only I
Only II \/

Both'I and II

(d) Neither I nor II
45. If %: x2 +y2 +z2, then
x@ + ya—lf +z.a—u
;Qx | dy 0z
is equal to. . ’
@ 0
(b) 2u
© -u v’
@ u?

The differential equation of ﬂ:the straight
lines at'a fixed distance p from the origin
is '

() (xy'—w?=p2(1+y’2)

46.

B xy+y=piry?)
© (x-yy)?=p?1+y?

\Jd( (et )2 =p2 (1 y?)

/17-C

0~
‘,)JJ;H - P

43, IR tim Y2tb-3 _1

zﬁ,?ﬂa,biﬁllm

=

x=2  x=2
B A
(a) a=b=3 ¥ )/fb

o )

(b) azxb Vb

=0, b= %a'f
(C) a=0,b=4 _ g-a)rb
) a=2 b=1 A

44, f=faRaa Fut w fmn Ay -
L y=|x} x=0R 3aac 3|
II.. y=x|x|€éﬁaﬁm?l N
I e A R -/
@) ¥l

(b)) FEED

(c) 1313
d IDLIGI

45, 93 l=\[3é2 +y2 +zz, @A
u .

TR B
v 0
(b) 2u
(©
@ w2

-u

46. Tiferg A P g p et Yol a1 e
TR §

@ (y-y2=p2(+y?
b (y'+y2=p2(1+y?)
© (e-yy)?=p2(1+y'?d

@ (e+yy)?=p2(+y?)

[ P.T.0.
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47. The solution of the differential equation

dy (2 dy)
-x—==a| y“+=2
570 T

is

@ (x+a)l-ay=cy
) (x+a)(l+ag)=cy

() (x+a)(l+ay)=cx

@ (y+a(l+ax)=cy -

48. The value of ¢ in Lagrange’s mean value
theorem for f(x)=x(x-1) in (1, 2] is

@ 2
4 "7’/\
3 \/ NYX
\}6)/2 QL.A) s o~
7 » g
(e = ¥ 9,7( 7‘}
o 2 RN
49, If
x=a(cost +tsint)
y=a(sint ~tcost)
; 2
then the value of 4y is’
dx2
(a) £secst
a

(b) at sec3t

lsecst

(¢ -
a

(d)' asecst
; —

50. If lim xsml—A and. lim xsini=B

i

x=0  tx o X—yee x
then which of the following i is true?
(@ A=B=0

\,(-b{ A=0and B=w
() A=1land B=e
(d) A=0and BL1

/17-C 14

47, 3 T

et
FEAE
(@) (cia)i-ay=cy
(b} (x+a)(l+ay)=cy -
() (x+a)l+ay)=cx
d) (yra)i+ar)=cy

48, 1, 2) 8 f(x)=x(x- l)a‘r?flvmamamwm
A F ¢ M B

5
(a) Z :.
3
(b) 2
7
() 7
9
| (d) 3
49, 3%
x=a(cost +tsint)
y=a(sint—tqost)
d2y_ b-Co )’k>
A9 L am qgkcop i 5
(a) osectt %Jw\{\k*?@'
(b) atsec’t ok «F(}"”g
i
) lsecst - . {,
a t coP
(@ asecst ( — ‘\’wk
2 ot 4 BT . RS 3
50, 7fe hmoxs1nl~A 3R lim xsm——B%
X—)00 X
@A P w
(a) A=B=0
(b) A=03R B=oo
() A=13R B=w
(d) A=03kK B=1
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51. The solution of the differential equation 51, 3fdSe GHIHTI

4 dy d
x+2 3"_'= ) 0)=1 3._y= =
2970 =4 0 (x+2y7)— =y y(0=1
is |  wEER
@) x+y-y?=0 7 (@) x+y-y3=0
®) x-y+y*=0 b b) x-y+y3=0
3 W "‘ ;I { {
(c) -x+2y-2y~ =0 "~ (c) -_x+’2y_"2y3=0
@ x+2y-2y°=0 Y @ xey-243=0
x—l . . . = g
52. lim ;i - is equal to T 52. lim & i ana{%
xﬁO ex +1 - ": . . » x—)O ex +1 \}
@ -1 . @ A N | /)
b 1 \/ = o) 1
0 0 90 - 6\"’.
@ 2 - @2
753. The function 53, %eH | .
0x)=(x-a)™(x-b)" L d=(x-a)™x-b)"
satisfies the conditions - of “Rolle’s W%gﬂqﬁﬁqﬁ‘q@gm% ST

theorem, when

-(@ m, nﬂq‘mﬁi'ﬁﬁ

(b) m, nWWﬁama<b

b o st ot kg
(b) m, nare positive vinteg'ers and-a<b

(d) h "m>n‘f

e

(@ m>n

54. Let f R—Rbea dxfferentlable functlon 54. WM Em%lQ.‘f :R—R TF JaheHd Sl ™

such that f(x?)=4x" -1 for x>0 and W R fxd)=ax?-1, x>0 F i,
‘,_f(l) L Then f@)is .~ WM fO=1 F@HR - =
@64 (@ 64
eSS N ) 30
© 42 © 42 C
@ 28 / e (d) 28
Hre 15 | [ BT.0,
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3Fq a6

toinfinity
55. Ify=x”f , then x%is equal to 55. Afg y=x{ , x
t 2
-y y
(a) y—xlogéx '-3 c ?y 7’ (a) y—xlogex
3 & | \ch“j | 2
y Vot 7 ¢
" e A _ Mwib) x- yloge
\/ y2 \/(L ﬂ’-? %‘T ¢ g
’ y
1-yloge x y i . @ 1-yloge x
: Yo J ;9 4
? AR
ylo: x-1 ' ”u‘ : t,. y2
74 —@ ylogex-1 -

56. If 'x=.'t, y=log,(cost), tel:O, %J, ‘then the

n 2 2 o
| Yalue of Jg‘ (%) +(%) dtis .
@) Toge2+)
(b) loge(v2-1)
(©) +2loge(v2+1)
(@ Zlog,WZ-1)

57. The value of -
. ['1 1 1}
lim [ —4+— 4. 4 —

n=eln+l n+2 = 6n
E is T : ’ ¥
@ 0 vy
() log,2 L} AT
v | X
(c) log. 3 \"’g S}t) '
) log, 6. \/ ‘\, \)Of;\‘-‘i
RERTE
58. lim (1+sm—) is equal to .
n—eo
(@) e
b) e
'(c);" e2a
@ o
e is

56. A x=t, y=loge(cost),'

BS) (3 e

(a) loge(W2 +1)
(b) loge(v2-1)
(¢) V2loge(v2+1)
(d) +2loge(v2-1)

57, ﬁm [—1-+L+....+ 1
n-ye n+l n+2 6n

@) 0
(B) logg2
(c) ‘loge3
(d) log,6

58. lim (1+sing) a'qa-(%

N—eco n
- (@) e \"\(‘
\,(b)/ e

(c) e2a

d o
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000
e

759 The value of '[(1) =[x gy is

@ €000

(1000 _,

(b)

e-1

© 1000fe-1) 1~

e-1
1000

(d)

. The value of Ixzexdx is
(a) 2e*+ec.
(b) (2 +2jex +c

(c) (x2+2x+2)ex+c
(d) (x2—2x+2)ex+'é )\/ |

61. The value of J:——Xd’c—:is’

(1+x)(1+x?)

v

)

. Nla

®)

Ala

wla

(c)

).

®la

62 Ifu=(x2+y?)? and x3+ 3% +3ary=5a2,
then the value of % at (a, a) is
@ a . '
(b) a2
(© 322

(d) NoneA of the above /\/

/17-C

1
62. 7R u=(x?+%)2 ™1 x3 + 3 + 3axy=5a2

59, ["e* " ai o &
(a) elOOOél ' ;
(1000 _4 '
() e-1 i
(c) 1000(e-1)
P e R | -
60. [x2e*dx 1 W | et o
€ o
(@) 2e*+¢. A .@_.Vq,)ﬁ
(b) (x2+2)ex+c 'Q)___Wfr}) ¢ ,f '

@ (x2 +2x+2)e” +c

\/Ld’((xz—2x+2)ex+é\, i 'WL‘

e
xdx '
ot e L
» NEAN
(a) g }’F . ?O&C’
9';“\,’.-‘.%-
M3 (o
% J, W
© % .
. 3 :
@ 3

Q_x + 15)

L
s

3 T (g a)m%“wm%

(@) a
(b) a2
3a2

(d) 3w 7/ s

[ P.T.O.

R
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63. A solution of the differential equation
Jl—x2dy+Jl—y2dx=o (Ix|<1,]yi<)

(a) xwfl y +y\/1 x2=¢ \/

(b) xsin™ y+ys1n ly=c

© x2 y2

( + =c
1-x2 1/1—y2

(d) le—x2+y\’1§y2=c

3,3

64. If u=log%, then the value of
y

65, If x+2y=8, then the maximum value of
xy is
(a) 20
‘b) 16
(c) 24

d 8\

66. The equation of the tangent at B=g to

the curve x=a(8+sin6), y=a(l+cosh) is

@ wsneff

18

63, Jawel THH .
V1-x2 dy+\/i§l—y2dx=0 (Ix[<L|yl<)

FTHTE

o ol

Lﬂ;/xsin'ly+ ysi_n"1x=c

52

2
Y
Q I
- Jl—x? J1-y2

(d) X\/IZ—J'c2 + y\[lxz‘yz:c

64.wf%u=1og"3+y3,aa x4y
Xty 0x ay
(@ u
\)b/z"
() O
d) u+l

65. A x+2y=8, T xy T 1y 7 2

0020 e yeH

(b) 16 v 90

T

2 by =T

(c) .4 L \ \7 ézfﬂw
@ 8 2 167§

,,9%49%

66. % x=a(8+sin), y=a(l+cosb) & 9=g- T
-t 1 i 3

(b) x—yf“?’f
() x+ y=a(§ +2)

: an
d) x+y=——
d) x+y 2
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67. The area bounded. by the curves
y=|x|-1and y=-|x|+1is

(a) 1 :
b 2 A |
(€) 242 |
@ 4 !

68. The slope of the tangent at the point

P(x, y) on a curve is —ﬁ. If the curve
x+2 ‘

passes through the origin, then the
- equation of the curve is

(@) xy+2y+3x=0 \/ :
(b) x2?-y2+2x-3y=0"

' (9) :
(d)

xy+6x=0
xy-2y+3x=0

69. If y(x) is a solution of the differential
* equation N \

dy
2 T2=% Y0

then lim y(x) is
::*x——)oo

@ 1

(2+sinx) ( g) < —chiix,

7010 y=yl and — 5\ g)"

y(0j=1, then y(-g) is equal to
(@) +1 |

- 2
b) =%
,( ) 3

19

67. 9% y=|x|-179 y=-|x|+1 d fR &3 @
& §

(a) 1

(o) 242
@ 4

68. Tl 7% 3 forg P(x, y) W woei-Y@n i yavrn
—%%lqﬁwwﬁaﬁmi A TF
1 TR
(a)
(b)

(c)
(d)

xy+2y+3x=0

x2 - y? +2x-3y=0
xy+6x=0 »
xy=2y+3x=0

' 69. i y(x), ST T

dy '
—=+2xy=x, y0)=0
| ™ xy=x, y(0)

F T I %,‘ @ lim y(x) B

X—00
: .
(a) 5
-1
1
3
d 1. .
N (2+sinx) dy o ’
70?[%’ y=y(x) ?PJTE .————yﬂ (dx) cogx,

01, 7 o) e
(a) 1 |

(b)

Wi

[ P.T.0.
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71. The mean weight of 9 items is 15 kg. If
one more item is added, the mean
. Wweight becomes. 16 kg. Then the weight

~ of the 10th item is

9 ﬁmmwmlsﬁomo%wﬁ
i ma@a@shzé @ W qR 16%03103}
T 8 | & 10T a8 F AR 7

2\b2 (@) 35 fo o

::; :2 Eg 13 fa (b) 30 fie Mo
: 8 ‘1L 0 o o
© 25 kg / \YL@{ o 25T
@ 20 g (d) 20 fio e
s N 4
. = A 8 11
72. If P(A)-— P(B)-— and P(AmB)—— 72. 3 T P(B)— W Pidnh 15|
 then P(A/B) is - 3 PA/BWWF‘% \\/,/é
3 : 3 o
SRR
11 i ° /11
(b) 3 \/ 3
€ . y 7
(c) 5 ‘ (c) 3
S . 5
g s 9 3
- 73. A coin is thrown 6 times. The probablhty 73. TF iy aﬁ 6 IR IBTAq 3 ﬁaﬁ RIS Qﬁ'if L
of getting ‘exactly four heads is TR A BHRET & Y
1
: .(a) 2 (@ Zl \/0>
. £
b 2 » b 3 U ’)
a (b)
4
S
% (© %
& é—i / @ 2
o 64 -
74. A bag contams 8 red and 5 ‘white balls,
Three balls ‘are drawn at random. The | 7% & % (K b 3ﬁ{ 5 e §| REGERI
probability -that one ' ball ,is ,red and mﬁ%ﬁmwélwm @Taﬂﬁu‘dﬁa
. two balls are whlte is Eﬁﬁ 'ﬂTﬁ'Eb'ﬂ'l% B _
40 40
O M RV L) = 0 {
80 80 |
) e ) o S
p s % ¢ ba
y 10 10 \ |
@ > @ 5 I2¢ ¢
286 286
/17-C 20
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75. The mean of 1, 3, 4, 5, 7, 4 is n. The
numbers 3,2,2, 4,3, p, 3 have mean
n-1and median q. Then p+qis

(a) 6
(b) 4
() 7
@ 5

76.1f a hyperbola, whose pafamegic

equations are x=ct, y=£; .‘,meets \any
t

circle with centre at (0, 0) in four points,

determined by the parametric values

t;, to, t3 and t4, then the va]u.e of
. hetartztg s

() | 2
) =c?
) -1

@ 1 / '

The product of the perpendiculars

drawn ffom the foci of an. ellipse

. i(‘——+y-§=lon any tangent to it, is

a.-2. ‘b

e

" a2’l - »

L
(c)
@ 2

78. Let y=mx+c be the equation of normal

e to the parabola; y =4axat (am y—2am).
Then cis equal: to- = '
() am3 Cas
(b) -2am+am34 v

© 2am+am?

- 2\ —
75. 1, 3, 4, 5, 7, 4 T WA n ¥ gew 3, 2,
'2,4,3,p 3F WA n- 1ammmm

g

q%l?ﬁp+q% ' ;
@ 6 %W ~*}/{»\ ?
Y
(b) 4 W~
\/7 'h/, - /‘m;
(@ 5 2) J?—'r)?

76. 7R @ fiwac, U . Cicny /

x=ct, y-—% ¥3 (0, 0) T Tt o9 A
ﬁn‘é’i TR ﬁ——gpﬁ BEccR Crikic I t2,
: t3,3ﬁ( t4 ¥ fulfa % A e %

t] -t t3t4 F AR

(a)<¢" c?

b) -02‘

\)/ 1

77a°lﬁ§a——+‘b—2_1ﬁ={ﬁﬁvﬁf4wﬁﬁa°f
msﬁmsﬁmaﬁﬁww%

() a?

(d 2

78qmymx+c,mamy =4ax % fog
(am?, ~2am) | axﬁam H FET A
’ ‘_CW%

| (@) am3

) -2am+am®

" (© 2am+am®

i

. - " B | )

117-C

21

\/(d((2amam

[ PR.O.
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79. If the sum of the slopes of the lines
2)»xy 7y =0 is four times their

product, then the value of A is
(@) -1 |
w2
(cj -2
@)1

80. The distance between the foci of a
hyperbola is 16 units and its eccentnc1ty

is ¥2. Its equation is

Wz
P 51
@) x2- —32\/ /,,, '5

(b) 2x2-y?=32 b/a

() x?-2y%=32 %k’,a :
st %W

d 3x2-3y%=32 hZ
81. For whaf values of k, the line y=kx+2
will be tangent to the conic

4x%-9y2 =367
v .
@ +2 M/%(;\
M
w22 7
.8
(9] :ta
a2
(fi) 1=

82. The locus. of ‘the centres of .circles,
that passes through the origin and cuts
offa lcngth 6 from the line y=4, is

(@ x —8y+25 0
(b) x —8y-25=0
(© x2+8y-25=0
(d): None of the above \/ /

/17-C 22

no. 7ft Y@ x2-2y-7y% =0 B Taumey |

maﬁnmﬂswwwwé aam
T B |

(a) -1

b 2 . | :
) -2 |

(d) 1

mm%m%eﬁazﬁr@
16m§amsaaﬁmf%|m

gHE g

véa)/x‘?—y?;sz 9/0,0 7H>

‘() 2x2-y?=32 ae'/'/'/& %
l

2 5 2_
(c) x.—2y =32 (,V :
(d) 3x2—3y2=32 ‘/‘7\4&"

81. k%ﬁﬁnqﬁ%m%@ y=kx+2, W
4x2 -9y? 36ﬁmﬁ%@@7ﬁ?

©(a) ig

\/{’-“.T_ - Y gk

<
(c) +8 | : v l' &f
_9 ) F\?/ 9
43
d z— 3

szgﬁ%ﬁﬂﬁ@qaﬁ] ¥ 3
a0 ¥l y= 4%6%@%2?2%% R

(@) x2-8y+25=0
(b) x2-8y-25=0
() x2+8y-25=0

o weiamia Y2
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83. The image of the point (3, 5,7 in the
plane 2x+y+z=6 is

() 513 u

Y

v f

The direction cosines of a line segment

whose projections on the coordipate
axes aye -6, 3,2, are

(b) (51 -] 3)
© (51,-3
d 513

84.

6
( _7,

) 6 32
‘ (C) et R Tt
7T 77

(d)

None of the above

85. If the lines
x-2 y-3_z-4
3 4 5
' x-1_y-2_2-3
‘a 3 4

and

are coplanar, then a i§ equajl to:
@ 1 '

o2
(c 3
(d) 4

86. The length of perpendicular from (1, 2, 3)
- x-6_y-7_z-

‘the 1i = = is
to ‘the line 2 2

’ h(a) 3

) VT7
© 7
@

/17-¢ 23

83. NTWl 2x+y+2=6 ¥ fag (3,57 @

@ 513
(b) (5,-1,3)
(c)
@ 513

(5) 1’ . 3)

84. 76 @m@UeE, ﬁia%ﬁﬁ%m mﬁmn&h
-6, 3,2 %, i RgFrant §

A

(b)

_63
77

ENER S

<o

32
77

N o
NN

~

3

7’
. (d) ?ﬂﬁfﬁﬁﬁtﬁﬁ?ﬁ

85. AR Y@t

x—2= y—3=z—4 Sﬂ'{
3 4 S

x—1=y—2=z§3
a 3 4

E §, @ o TR R
(@ 1
VA
(c) 3
(d 4

86. (1,2, 3 A @ x£6=y—7=z-7

2 -2
GIEEIRLE
@3
o 17
@7
@ 20

W@ T

[ P.T.O.
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87. If cosa, cosp, cosy are the direction
cosines of a straight line, then

(sinZa +sin?p+sin?y)
is equal to
(a) ©
(b) 1
(¢ 3
(d 2

v

88. The radius of the sphere

x2+y? +22

—x- y-z=0
is
3

(a) 5

(b {3 \/
(© \E

(d V3

89. The conic
5x2 -6xy+5y2 +26x-22y+29=0
represents
(a) a circle
(b) a parabola
(c) a hyperbola

(d) an ellipse \/

90. The coordinates of the point, where the
. line -
' x-2_y+3_z-1
-1 1 6

- interée;:ts the plane 2x+y+2z=7, are
® @1-7
b) 7-12
© 0-27
@ @2-71

/17-C .24

g87. AR cosw, cosP, cosy T Wd ke H
P ry g |
(sin2a+sin2ﬁ+3in27)
(a) O
(b) 1 |
(€ 3 |
2

8. Tl x2 +y2 +22 - x-y-2z=07% i ?

N

Y

@ 5

Wz

Z
o :
@ <3
89, W%
5x2 - 6xy+5y2 +26x-22y+29=0
Frefta #@ 2 b
(a) THTA ) O‘/C/f'
(b) T T | %(; VIR
U"/ T e
(d) T g
90. 34 forg, el Y@
x—2=y+3=z—1
-1 1 6
AT 2x+yt+z="7 F Tid=ded Al 3, F
@ @1-7 9(/\9’4”)*(-{ '
© 7,-12 v D7
(L-27 - Y‘/}
@ -7 /9]/4"4* >
‘L%#H;7
9 Y %?‘,ﬂ}
% s ’)'VS/
; c7 <5
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91, If A is a 3X3 non-singular matrix, then
det (adj A) is equal to

(a) 2 det A
(b) 3 det A

\(}Y’ (det 4)2 v

(d) deta)®

92. The composite mapping f e g of the maps
fi.R=R, f(x)=sinx
g:R-R, g(x)=~x2
- is

(@) sinx+ x2

\ysin(xz) L/

| (©) (sinx)2

@ 0%

x

93. A square matrix P satisfies P%=1-P.
If P" =51-8P, then n is equal to

() 4
(b). S

cGt/

(d 7

%4, ’I_‘he\_number of solutions of . -
. log(x~1)=logo(x~3)

s

(@) 2 \/

(b) 3

© 1 -
d O

.,.c

91.7R A T 3x3 IEEwiE AER B, A
det (adj A) TR

(a) 2 det A
(b) 3det A

() (detA)?

(d) (deta)®

92. wifnl
£ RoR, fly=sinx
g:R->R, glx)=x?
3 W TR fog FIANE

: (a) sinx +x2

(b) sin(x?)

(©) (sinx)'2

o =5

X

93, TF F g P, P2=1-P F UG @ T

M PN =51~ sP,aanaW%
@ 4

b 5

0 6

@ 7

94, log4(x - 1)=loga(x—3) & Tl é@m 2

@ 2/ /v NP
(b) 3"" &,Q{d) I
_ w-rﬁ"
VR wi. =
@ o0 . MO"-‘:H‘ 7o Y
Qo‘?O M

0 A X . [ PTO.

<«
o5 )

a7 s, '

®7 ! :
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95. The eigenvalues of the matrix . 95, 3TE

ahg a h 'g
a=/0 b o] . A=[0 b0}
0 cec 0 ce
are 3 sttt () 7 &
@ ahg = @ ahg
®) agc - () agc
(€ ahec . ) ahc
\/Ld‘/a,b,c\/ , .(d) ab,c ﬁ A
96. A cy_clicigr_q‘up having only one generator | 96. Fad Th 5 aﬁ < R 5 W ®
can have at most = TR &
a1 element o @ 1 o N
\Jb'/ 2 elements 5 \/ | (b) 2 3144 ' -
" () 3elements (c) 3 3Em |
@) 4 elements | ) 4 v

97. Every diagonal element of a skew- | 97. f&dt fowm-wmfig AR H IS IEcuich

symmetric matrix is Sl

e ol e

B ity R S .
A .
(&) purely imaginary - | (d) ea: HeHE

a8. Thc numbcr of real solutlons of the o8, 'H'Iﬁ’!m"{q |x|2+5|x|+4 0 % T ‘5'Eﬁ
equahon|x|»|-5|x|+4 0is fvend

,k\f\)f{"f ’. ' % | (a) 4 .
b2 b 2
BCiEY ' R ) 1

J ” .

@ov/// %9 @0

e 26
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99, The sum of the infinite series
1 1+1 31 1351

ey ...-_-_-—_._-_-._ XX

is :
(a) \E / " '
(b) \E

(©) \/3

3
@ .

' 100. The sum of thrée nimbers in arithmetic

progression is 51 and the product of first |

and third terms 1sf 273. The common
.difference of this progression is

@) 5
B 4

- is 4. If their arithmetic means A and
. '\\_ geometric mean G satxsfy the equatlon
A 2A+G2 =27, then the numbers a:e

' "‘(“)"l 13

“b) 1,4

- (d) None of the above

102. Let A be a'3%3 matrix with eigenvalues |

£-1,0. Then the value of |I+A%] s

» 3 o

(b) 8
o 27

(d 100

111 ‘

27

99, 3q Aof
11,13 11351
22 2492 24693
maﬁw%
2
(a) 5
1
b -
(b) 3
© 3

(d \E

1oom&aﬁﬁ?ﬁqmaﬁﬁlﬁn‘s‘i‘"%w

um@ﬁumﬁmmzm%lw
WHEd Tme - -

(a) 5
(b) 4
‘(C) 3
.d 6

101 3 3 w1 e M 4313 T ww

WA AT PR WA G,
24+G? =27 R TE T §, A ow

(a)
(b)
\})/3 6
(d) wzi?sﬁ@r#w@t
102. m?ﬂﬁqﬁAWmaﬂa@% %

| AR (eH) THO1L,-10 % w@
1+A00) Frm & o

1, 3

M-?

@ 6

) 8

o 2
@ 100

[ PT.O.
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.~ 104. Every square matrix can be expressed

103. Let G be a group with identity elerent .
Let q,beG be such that a°=e and

aba™!=b2, Then ofb) is
(@) 17
(b) 23
(e) 29

(@ 31 \/

as

(a) a Hermitian matrix

- (b) A skew-symmetric. matrix

; \(ﬁ_/:um of symmetric and skew-
symmetric matrices :

(dj None of thé above

105. The sum of the infinite series -
1 1+2 14243 142+3+4
+—t + trere

2 3 [ 15

is
(a) 2 -
) e

-

e ‘/
(d) 2 v

106. The characteristic roots of the matrix
5 4 ‘
A=[ ] are

f gdafrF T e F WY Gy
IOS-QmW%a,bEGWWQ% .?

45 e aba”} =% T o)}

@) 17
(b) 23
© 29
d 31
104, S T G T AW F T Few §
) s g s % U A
 (b) e P ST o w9 A |
W Fdmy |

() R 7 fowH-wnfi
wE L
@ sEwiAwiE
105, ¥a Al .
' _1+1_+2+132+3+1+2+3+4+._.m
2138 A 5
A € Cnd)

nihts
(a) 2e | - -.

P zq”l\ \
3 RS T | ,
SR
e A
@ 2 | B/

\())/1,5 v’ ) [ Q @ 1,6
(b’) -1, 6 "’(u.‘;o (b) -1, 6
@ -1,-6 |o-'7M o
_ W'a (€ -1, -6
@ 1 -6 ?.qi'?’) t . d 1 -g
X A
/17-C )oxe% » 28 p )

Ve

by )
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107. For square matrices A and B, which of
the following is true?

(a) (AB)I=AIBI

) A+B/=A'+B -

© (4B~ l=a"1p"1

d (A+B)l=a"14p"1

108.:The charactenstxc roots of a Hermltxan
matnx are

(a) real \/ ‘
x i
(5) pl._lrely imaginary

M complex numbers

'(d) None of the above |

109, The generator/generators of the cyclic
2 3 4

107. 1 9=} A @ B ¥ fw = # § #R-w
we 3!

(a) (AB)'=A'B’
(b) (A+B)’=A"+PB’

(© (aB1=4"1p"!

\(}7/(A+B)”1=A'1+B_1

103.@3552‘1311&13%37&61&@@13@%%
R

(b) Yew: FeAF

(@ qﬁq&rm

(d zcrgtfﬁﬁﬁa?ﬁ‘ﬂﬁ

109. 9 WE (@, a2, a3,a’ =¢} F/F

group {a,a“,a”,a” =e} is/are HE
(a) a* (&) a*
b) a2 (b) ‘a2
: ’(C)’ a*, a? © a* a?
\\,m/aa3 \/ @ add
110. The value of the determinant 110. GRRH
43 1 6 43 1 6
35 7 4 35 7 4
17 3 2 B 17 3 2
; is \4.3 ‘( i’/ Hﬂlﬂ-‘l%
(a) 0 ’\/./ }})/ (a) 0
 (b) 56 3 \ "} (b) 56
| (© ! 756 9% \ /.} .,\ (c) 75§
@ 964 e @ 964
/17-C 29 LPT..
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111. R (5+6c0s0+2c0s20) % aftan @k

A AH, fomma wfiertor x2 - px+q=2 ﬁ’%

111. If the maximum and minimum values of
(5+6c0s6 +2c0s26) satisfy the quadratic

equation xz—px+q=2, then p, q are W%mﬂﬁ,?ﬁp, q%’g, hHEI: |
respectively ‘
(a) 13, 12
(@) 13, 12 . ,
3 [
(©) 14, 13 (c) 14, 13
(d) 13, 14 ! y (d) 13, 14
112. The sum of the seres A 112, 3vft 72+70+68+---+4035T?ﬁ7|w% 0 2
72+70+68+.--+40 ‘ }> (a) 950 - @,‘? ?’7/* '
is . 8 \%L /] . L'D \/‘-"F)"
(a) 950 s Y}\'\Lﬁ P B 952 ol
a
G0 g 1y A ) 954 }gq/ ey
(b) 952 woo7 u” ay 7y
13 ¢ ™ (@ 956 SARR
() 954 7L %L o o :
@ 956 e \(}7}," 113. R 3 5 it densdt @ w2,
7 ol e+,
113. Given that the set Z of integers forms a ' axb=a+b+1; a,beZ
group .under the binary operation *, ‘ ‘ _
defined by . : S0 Rfd 8, % A TF T Sl B 59
a*b=a+b+1; aq,beZ wﬁ-_zamsﬁii“%. .
The inverse of -2 in the group is ;( (a) 2
@ 2 e#\ s (b) 4
) 4 ’ [fi’[ 6, (;/"\ X € -2
J a : / .
bw/ . / ")/3(’\/ @-o i
il e 114, Aft g %
114. The sum of first ten terms of the series 1 1 1
. ..
1,1, 1. : 21 77 165
- 21 77 165 | %Hﬂqmqﬁwq}q%
is ‘ :
' N 10
@) _19 \/ (@) EQ-
- 129
20
20 (). 20
(b) —IEQ_ . 129
* 30 l 30
" (o) v‘m . ! | (c) 129 
" 40 a0
ey , d), —
4 129 _ a@. 129
J17-C 30
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115. The condition that the equations
ax2+bx+c=0’ a'’x“+b'x+¢'=0

have a common root is l

@ (bc'-b'c)*=(ca’~c'a)(ab’~a’b)

b) (ab’-a'b)?=(ca’~c'a)(be’~ b'c)

(©) (ca’—c’a)2=(bc'—b’c)(ab'—a’b) \/
(d) None of the abovg '

116. The value of p for which the sum of the
squares of the roots of ‘the cquatlon

X —(p-2)x—p+1;=0
is minimum, will be '
(@ O \ -.
o

(€ 2 '
@ 3

b

117. The domain of the function
<z ologa(x+3)

f(x)'s»?g—iﬁi t--

is "ot

(@) R-{1-2

0 (2=

(© R-{1-2-3}

@ (3=9-(1-2
118. Let * be a binary opcratlon defined on

the set of posmve rational numbcrs ot

by the rule a* b-—élz Y aq, beQt. Thcn

the inverse. of 4 *.6.is

Q- . .
\)’/5 \/> @ > 3
o 2 7
SR b
1 7 8 ?l,‘ .
e (‘d)”"' 3 @
R ohe?
4
s 31
/17-C . ?,47

115, T

116.

117.

118.

(a)

)

ax? +bx+c=0, a'x,2+b’x+c’=0

3 5 v 7 88 A

(a) (be’-bc)%=(ca’-c'a)(ab’~a’D)

(b) (ab'-a’b)2=(cc£'—c'a)(bc'—b'c)

() (ca’~c’a)?=(be’~bc)(ab’~a’b)

@) IR A A T

p 1 % 7, Fore g i
x2-(p-2)x-p+1=0

35 ot 35 ¢ 1 e 1, A

0
®) 1
© 2
i

(d)
e

wF”

logo(x+3)
_f(X)_=;§’i(3x—E
1 7R &
@) R-£L-2)
B (2=
(€ R-{1-2 -3
@ (-3,=)-{1-2 _ |
WA AR 6« T fE-onart Wi, e
g wemel % g™ @t W frm
a*b=g3bi, Y a,beQ” W g 1 @@
4+ 6 1 Wi B

(_a) '

oo) . : *

(c)

Njw wlw Wi wlo

(d)

[ RT.O.
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d (@) 4

: (c) beth one-one and onto -
_\/W/n:ither one-one nor onto /

e

119. The least order of non-Abelian group is'

(b) 5

3

d) 8

120. If the function f:R—R is defined by
f (x)=x2+x

then the function fis

\\ﬁ!{ one-one but not onto
(b) onto but not one-one

12.1_. Consider the following statemen:cs :

I If Ais skew-symmetric matrix, then A
A% is symmetric.

I. Trace of a skew-symmetric matrix
of an odd order is always zero.

Which of the -above statements is/are
true?

(@) Only I

(b) Pnly II "
\/gothlandll \/ -

(d) Neither I nor II

122. The system of equations
' x+2y+3z=1
2x+y+3z=2
X+y+2z=3
-has

_\)é) no solution /
- ‘(b). unique solution

) ihﬁnite solutions

d) None of the ab‘qvc

jirc \ Q7 ‘

‘() IRIeR
.‘,m)qﬁLaﬁnu

122, T e

. B, o :
W B - & ,.3 . \,“r’

119, S-Sl Ag ) A Hfe R

@) 4
(b) 5
© 6
@ 8

120.’?@1152(—[‘?!}’:1?-:—).1?, f(x)=x2+x'@qf(ﬂTﬁ'ﬂ
}AFTFHS R

(2) WWWW
(b). ATBIEHR T THH TG -
(c) T Td Ao Al
(d) ¥ T, ﬂ‘a’im

121. ﬁqmamﬁmﬁaﬂ?ﬁﬁm

L 3R A T Rrm-wfim oo &, @ A2
A g

IL. @ﬁwﬁ&aﬁﬁwmﬁaw
T A Bl B
‘arg?mm‘iﬁﬁaﬂmm/ﬁw%/%?

(@) a1
(b) HFa1I

x+2y+ 3z=1
2x"'-l-y+ 32:2 ‘
X+y+2z=3 Nag

@ W

(b) hfmead L
(c) mm% q/‘\/ D
| | \ % n
@) 35§ 3 g 5
R
> \
\ AR
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23. [fAis a 2X2 matrix such that trace A= =6, .
. 1A|=12, then trace (A™ )ls 123. 3R A T 2x2 JE W TR ?
A A=6, |A|=12, T k@ (A7)} -
2 \
B3 C m ]
Al
2 4¢
1 fr ,
(b) 3 1
' 3
1 B
© - 1
6 © <
@1 @ 1
124, Iff[xr—-)lz) ;3_.%, then the value of | 124, qﬁf x——) X3 1 Hﬁf(l)iﬂqﬂ'ﬁ }_
£ is - - 2 3 L»« Y
-2 :
" -2 ™ ey
-1
(b) -1 . (b) » l /3
© o €0
¢
' & Rl ws
; : 125, THH [x |2+ |x|-6=0F fo@g ybi
125. For the equation |x|“+ |x|-6=0 : 04/07)( o
(@) e T 7 & * o
(a) there is only one root ) Lﬁf)
. (b) T A -1 (e~
(b) the sum of roots is -1 . % o
(c) the product of roots is -4 \/l | (c) Fﬁiﬂ R -4% !
(d) ‘there are four roots | ‘ U’d/;’m 1{6%
126. If the roots of the equation 126. 3R FHOT 2
e ?(q—b)x2f(c—fa)x+(b—c)=0 ’ (a-b)x“ +(c-a)x+(b-c)=0
‘.”'érge'_qual, theria,b,careéin\/ FRAHE, A q b, o} %’» {b,c)&fa)
~ (a) arithmetic progression (@) TR AAH | (/ N
8 ", > - yla”
(b) ‘geometric progression; . . ‘}/‘ IR 3 | . | @’C{) r“{i{q/
: (c). harmonic progression (c) T 3 | N
Y
(d) None of the above (d) 9w T A 9 58 ¢ , &

117-C ' 33
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127. If fJx)=cos |x| and g(x)=sin|x|] then
both fand g are even functions /
(b) both fand g are odd functiOIlS

(©) fis an even function and g is an
< odd function :

R

(@) fis an odd function and'g is an
even function

128, If
1 x x2
fa=|x x? 1
x2 1 x

then the value of f(¥3 ) is
@ -6
o) e
© 4
@

87

129. Let R be a relation on a set A and let 4
denote the identity relation on A."Then R
is antisymmetric, if and only if

\}a{ R=R

(b) RURIcI,

-4

<

(d) None of the above -

. ©) RAR ¢y,

130. If x is the first term of a geometnc
" progression and the sum of its infinite

- - terms is %, then x lies in the interval

1
O<x<=
() Odwes
(b) .l—1<x<%1-
: 4
R T
\ —_— <— oy
H g :
8. [d) 0<x<? \/
/17-C 34

//.’ .

x)=sin|x|, Ll

7. 7% f=cos I M
(a) fmgﬁww%

(o) faﬂwaﬁﬁ“‘”W%

(@) T o T g T R

128. I
1 x x?
o= x &1
x2 ll X
R
AEFIE o X
_ ."7&{: ﬁ».x[.«')t
(a) -6 ‘)('{_ -
(b) .6
(c) 4
@ -4
129. WM T 6 frelt 99 A W R TF gay

- A i 1y, A R aeeE ey R
< §1 7 R wfoeia 8, af o e AR

(@) R=p7!
(b) RUR ¢y,
© RnRlcq,

O wwhan

“ﬁwt{”ﬁﬁt%‘«z‘rmquaxww%
mﬁwmlazﬁx%m

130.

@ ocxcly I

g

) ~1<x<ly 4 '1,

. -\
J/~51<x<51ﬁ Y } —ﬂ

(d) 0<x<2
| <x<3ﬁ

|

-
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131 If Y'r"=s, |r|<], then D r2" is equal
n=0 n=0
to _ ‘

(a)

(b) 2§_1 v

()

(d s2
132. The infinite series
1 1 1 1

_+__+__+__.+...oo
1P 9P 3D 4p

is convergent, if

(@ p=0
(b) "p<1

() p=1 /
A p>1
133. Which one of the following sequenccs is
not convergent? -
@) (1+(-)") v
(b} <n+1>
_nn
\)3( <1+( ) >
n.

(d) None of the above

134,17

(1= x+x2) —ao+a1x+a2x 2n

2+ +mmx

then (ag +ag +ag ++ +a2n) is equal to

C 3o
() 3

3n 41 /
(b) 3
3" 42

2

3" -2
2

(c) -

(d)

17-c 35

131, 9 Zr =5, |r|]<], @ ZrQ”amat% |

n=0

(¢ p=1
@ p>1
133, Tt il # 4 -1 ¢ A 7 77

@) (1+7) 4
(©) ,<1+("1)n> |
n

(d) wﬂﬁﬁaﬁémﬁ
134?:%

(1 -x+xd)n —a0+£11X+a2x has +a2nx2

T (ap +az +ag +-+ag,) TR
3" -1

341
.2

3" 42

(b)

(©

(d) 3" -2

[ P10
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135. Every subgroup of an Abelian group is
not

: .
SQ{ cyclic

(b) Abelian

136. I |axb|2+ [@-B12 =144 and |3)= 4, then
lbl is equal to

, A
(a) 12 ‘H&)‘
(b) 8 &j%j):g
© 4 . \p(\“/
0/‘\9 “
\/‘ﬁ? 3 \/ \04

137, If F=x yl+xz_1+2yzl€ then the value of

div curl F is

0 </ ¢ Z
b 1

(c) 2

@ 3

138, If a and b are coxfstant vectors, thcn
V(r a, b]) is cquaJ to

t/é) 0 |
(b) @b)7

() dxb

e

/

@ @xBF

/17-C 36

135.@3@@%@@%%%

136. 7% [dxb |2+ [d-bI% =144 3% [d|=4 B, &

(a), aﬁq
(b) oTaEh
(c) TaH

(@) g A @

[b] ¥R 2
(a) 12

(b) 8

0 4

@ 3

137. ?Tﬁ F=x yl+xz_;+2yzk ﬁ a d1v curl F

F A §

(@ o

138

(b) 1
() 2

(d) 3

Hféaambwnﬁm% o

TR

@ 0

b @b)7

() dxb

) @x2)p,

I

W[?, ab)
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139. The value of (¢xd)x(@xB) is

@.b)@‘f)a.
cawt”

140. div td xa’), wﬁere d is a constant vector,
is equal to ' '

4 .(b) d|
© [7

d a7

141;?orskz and B are irrotational, then
- >
) AXB is irrotational © '

(b) X xg is solenoidal. \/
()" A-B is rotational _

(d) None of the above

b

142, The vector I_%, where 7 =xi + y}+zl€, is
r| :

&Aﬁly soicnoicial v ‘.
. (b) only irrotational \/
(c) ,':;both solenoidal and .irrotational
(d) neither solenoidal nor irrotational

117-Cc
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139.

y

(@xa)x(d xb) 1 7H 3

@ 0

(b) [p2alb

v

@ a7

141. 7R 2 s B s whw &, 9

142,

@) AxB o
(b) Ax B ufefiebm §
€ A-ByHat
@ w2 R

P R .
wfew = TRl ?=xi+y]+zk, z

7°
(@) e v
(b) It el

o) e st s

() 7 3 s, 19 oy |

[ P.T.O.
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